
 gyMZm …
 (1) `m àíZn{ÌHo$V XmoZ {d^mJ AmhoV. {d^mJ - 1 _Ü ò àË`oH$s XmoZ JwUm§Mo 25 àíZ V¥Vr` ^mfm

`m {df`mMo AgyZ, {d^mJ - 2 _Ü ò àË òH$s XmoZ JwUm§Mo 50 àíZ ~wpÜX_ËVm MmMUr `m {df`mMo
AmhoV.

 (2) `m àíZn{ÌHo$V àË`oH$s 2 JwUm§Mo 75 àíZ AmhoV.
 (3) gd© àíZ gmoS>dUo Amdí`H$ Amho.
 (4) àíZn{ÌHo$V àË òH$ àíZmg Mma n`m©`r CÎmao {Xbobr AmhoV. Ë`m§Vrb ~amo~a n`m©`r CÎmamMm H«$_m§H$

Agbobo dVw©i CÎman{ÌHo$V H$mù`m qH$dm {Zù`m ~m°bnoZZoM nyU© a§Jdmdo.
CXm. … àíZ H«$. 6 À`m ~amo~a CÎmamMm n`m©` - H«$_m§H$ 2 Agob, Va Vmo Imbrbà_mUo a§Jdmdm.
àíZ H«$. 6 

 (5) nwT>rbà_mUo a§J{dbobo CÎma J«mø YaÊ`mV òUma Zmhr. Ago CÎma {b{hë`mg eyÝ` JwU {Xbo OmVrb.
1 2 3 4

 (6) n`m©`mMr CÎmao a§J[dVmZm H$mù`m qH$dm {Zù`m emB©À`m ~m°bnoZMmM dmna H$amdm. noÝgrbZo
a§J{dbobr CÎmao J«mø YaÊ`mV `oUma ZmhrV.

 (7) EH$Xm a§J{dbobr CÎmao ~XbVm `oUma ZmhrV.
 (8) EH$mnojm A{YH$ dVw©im§V a§J{dbobr CÎmao, VgoM ImS>mImoS> H$ê$Z a§J{dbobr CÎmao J«mø YaÊ`mV

òUma ZmhrV.
 (9) narjog _`m©{XV doi Agë`mZo EImÚm àíZmMo CÎma Vwåhmbm `oV Zgë`mg, Ë`mÀ`m nwT>rb àíZ

gmoS>dmdoV qH$dm eodQ>r doi {eëbH$ am{hë`mg Z gmoS>dboë`m àíZm§gmR>r nwÝhm à`ËZ H$amdm.

_hmEŠPm_
nyd© _mÜ`{_H$ {eî`d¥Îmr gamd narjm - 2017

_mÜ`_ … _amR>r
{df` … V¥Vr` ^mfm d ~wpÜX_ËVm MmMUr

{XZm§H$ … 05/02/2017      doi … 1.30 Vmg     B`Îmm … 8 dr     EHy$U JwU … 150

{df` … V¥Vr` ^mfm d ~wpÜX_ËVm MmMUr
doi … Xþnmar 01.30 Vo Xþþnmar … 03.00

àíZn{ÌH$m AZwH«$_m§H$C 770001
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gamd nona
{d^mJ 1 : V¥Vr` ^mfm

Q.1 Find out a pair of homophones from the given sentence. Choose correct alternatives.
My father sent me a scent from abroad where he works in Dubai.
1) Scent, sent 2) abroad, Dubai 3) me, from 4) Where, works

Q.2 When Ramesh was caught in the exam, he had to pay a price for it.
The underlined phrase means :
1) give money 2) pay a fine
3) face harsh punishment 4) none of these

Q.3 Give one word for. One who walks on foot.
1) pilots 2) pedestrian 3) pessimist 4) pick pocket

Q.4 Read the contents of given verb diagrams carefully and select the appropriate litle of web from the
alternatives.

?

Name 
and fame

Making our 
dreams came frue

HappinessEnjoy

1) failure 2) success 3) competition 4) annual day

Q.5 Find out correct word to fill in the gaps.

G R E E D I L Y S
E X A C T L Y E Q
N N A X Y W M A U
T P E R B I A S I
L F E A T S L I C
Y V R E T E W L K
R K M S G L A Y L
L O U D L Y Y T Y
S L O W L Y S D N

1. We ______ order pizza for dinner, it does not happen very often.
1) Greedily 2) quickly 3) slowly 4) sometimes

Q.6 Select the correct answer for the given Riddle. I have holes in my top and bottom, my left and right and
in the middle. But I still hold water.
1) sponge 2) sieve 3) strainer 4) funnel



_hmEŠPm_-2017                 _amR>r _mÜ`_ - V¥Vr` ^mfm d ~wpÜX_ËVm MmMUr (B.…8dr)

- 3 -

Q.7 Pick the odd one out.
1) happiest 2) easiest 3) ugliest 4) easy

Q.8 Find the correct Wh-question which will give the underlined words as the answer.
The little boy screamed loudly.
1) How did the little boy scream ? 2) When did the little boy scream ?
3) Why did the little boy scream ? 4) Who screamed loudly ?

Q.9 Choose correct alternatives from the following underlined word.
We must exercise regularly.
1) adverb 2) verb 3) adjective 4) conjunction

Q.10 Choose an appropriate meaning of modal verb from given sentence.
Prices ought to come down soon.
1) probability 2) necessity 3) certainly 4) obligation

Q.11 Fill in the blanks with the suitable conjuncetion. I called him _____ he did not hear me.
1) or 2) and 3) but 4) else

Q.12 Choose the correct future continuous tense of the verb.
We ______ for the train at the platform.
1) will wait 2) shall be waiting 3) waited 4) waiting

Q.13 Choose the two correct sentences in the passive voice.
1) He was rewarded by the Emperor. 2) This bridge was built by the army.
3) Columbus discovered America. 4) I had written a story.

Q.14 Choose the most appropriate 'Indirect Speech for the given' Direct speech.
The Doctor said to the patient, "Don't take a heavy diet for a week."
1) The doctor asked the patient that he should not take a heavy diet for a week.
2) The doctor said to the patient to have light diet for a week.
3) The doctor advised the patient not to take a heavy diet for a week.
4) The doctor requested the patient not to have a heavy diet for a week.

Q.15 Find out comparative degree from following options. Choose two correct alternative form the
following.
1) John is taller than any other boys in the class.
2) Very few boys in the class are as tall as John.
3) John is taller than most other boys in the class.
4) John is tallest boy in the class.

Q.16 Parents has written a note to class teacher. Read the short note and choose correct option.
My son Amey was not well since last four days, so he could not attend school. Therefore I request you
please ____ him to sit in the class.
Thanks
1) trust 2) allow 3) give 4) punish



_hmEŠPm_-2017                 _amR>r _mÜ`_ - V¥Vr` ^mfm d ~wpÜX_ËVm MmMUr (B.…8dr)

- 4 -

Q.17 Select the correct option to complete the given slogan.
Save trees ______
1) Save Human 2) Save Life 3) Save County 4) Save money

Q.18 Read the conversation between two friends. Choose correct option.
Soham : There was a good programme on TV last night about elephant ? Did you see it ?
Sam : Yes, it was wonderful. Have you ever ____ a live elephant ?
Soham : Yes, and I have touched one, too.
Soham : When was that ?
Sam : Two years ago when I was on holiday in keniya.
1) seeing 2) saw 3) seen 4) same

Q.19 Answer the given question by selecting a suitable option.
What information will you provide in the Media of a website ?
1) All information about the new product.
2) Information about vacancies, jobs.
3) All information about meetings only.
4) All the news, event and newspaper coverage.

Q.20 to Q.22 : Read the passage and choose the correct alternatives.
The secret of healthy body is a healthy diet. Today's diet, of people who are always on the run, has
unfortunately become unhealthy and does much harm to the body. Grabbing quick bites like 'Vada
Pav', 'Dabeli', 'Samosa's, burger etc. give no nutrition to the body. Wise eating would mean that we
include proper proportions of all elements of food and most important plenty of water.

Q.20 What is the most important thing necessary to the body ?
1) Soft drink 2) Juice 3) Water 4) Tonic

Q.21 Wise eating mean :
1) Improper proportion of all elements. 2) Proper proportion of all elements.
3) Insufficient elements of food. 4) Excess of food.

Q.22 This food has no nutrition value.
1) Vada Pav 2) Egg 3) Pulses 4) Milk

Q.23 How people are taking their diet ?
1) In a hurry 2) Peacefully 3) In a tiffin box 4) Insufficient

Q.24 What is the secret of healthy body ?
1) healthy diet 2) water
3) More supplementory food 4) Only physical excercise

Q.25 Find out meaningful word from jumbled letters. Choose the correct alternative.
acusedrigo
1) disgust 2) dishonour 3) disappear 4) discourage



_hmEŠPm_-2017                 _amR>r _mÜ`_ - V¥Vr` ^mfm d ~wpÜX_ËVm MmMUr (B.…8dr)

- 5 -

{d^mJ 2 … ~wpÜX_ËVm MmMUr

à.26 "ZJan[afX' `m eãXmV _Ü`^mJr `oUmè`m AjamÀ`m XmoÝhr ~mOyZo g_mZ A§Vamda AgUmar Ajam§Mr OmoS>r H$moUVr?
1) X Am{U J 2) Z Am{U f 3) J Am{U f 4) a Am{U n

à.27 "gmIa^mV' `m eãXmVrc Ajam§_YyZ Imcrcn¡H$s H$moUVm eãX V`ma hmoD$ eH$V Zmhr.
1) ^maV 2) gmaIm 3) gm^ma 4) gmIa

à.28 "O§Jcg\$marV Amåhr ~N>S>m, nmS>g d N>mdm nm{hcm,' `m dmŠ`mV nwT>rcn¡H$s H$moUmÀ`m {ncmMm C„oI Zmhr.
1) haU 2) dmK 3) qgh 4) hÎmr

à.29 ABCDE  FGHIJ KLMNO  PQRST   UVWXY {Xcoë`m Aja_mcoVrc D Am{U R `m Ajam§À`m _Ü`^mJr
`oUmè`m AjamMm X nmgyZM H«$_m§H$ {H$Vdm?
1) Mm¡Xmdm 2) Voamdm 3) AmR>dm 4) n§Yamdm

à.30 ABCDE  FGHIJ KLMNO  PQRST  UVWXY {Xcoë`m Aja_mcoVrc G nmgyZ W n`ªVMr Ajao CcQ>
H«$_mZo {c{hë`mg COdrH$Sy>Z AmR>do Aja H$moUVo `oB©c?
1) O 2) M 3) N 4) P

à.31 JQ>mV Z ~gUmao nX {ZdS>m?
1) V~cm 2) drUm 3) gVma 4) gma§Jr

à.32 JQ>mV Z ~gUmar AmH¥$Vr AmoiIm?

1) 2) 3) 4) 
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à.33 JQ>mV Z ~gUmar g§»`m emoYm?
1) 384 2) 2244 3) 808 4) 8412

à.34 JQ>mV Z ~gUmar g§»`m emoYm.

1)  
20
12

2)  
36
27

3) 28
21

4) 24
18

à.35 ABCDE  FGHIJ KLMNO  PQRST   UVWXY darc dU©_mcm nmhÿZ JQ>mVrc doJio nX AmoiIm?
1) FI 2) GP 3) EH 4) IT

à.36 n{hë`m nXmMm g§~§Y Xþgè`m nXmer Amho VgmM g§~§Y {Vgè`m nXmMm Mm¡Wm nXmer Amho, ho cjmV KoD$Z `mo½` ǹ m©̀
{ZdS>m?
Xgam …  AmpídZ … JUoe MVwWu
1) ^mÐnX 2) lmdU 3) M¡Ì $4) H$m{V©H$

à.37 n{hë`m AmH¥$VrMm Xþgè`m AmH¥$Vrer Agcocm g_g§~§Y cjmV KoD$Z àíZ{MÝhm§À`m {R>H$mUr òUmar AmH¥$Vr {ZdS>m?

: : : : ?

1) 2) 3) 4) 

à.38 n{hë`m XmoZ nXm§Mm g_g§~§Y cjmV KoD$Z àíZ{MÝhmÀ`m {R>H$mUr `oUmar g§»`m n`m©̀ mVyZ emoYm.
47 : 53  : : 59 :  ?
1) 61 2) 67 3) 69 4) 71

à.39 n{hë`m XmoZ nXm§Mm g_g§~§Y cjmV KoD$Z àíZ{MÝhmÀ`m {R>H$mUr `oUmar g§»`m emoYm.
67 :  21   : :  89  :  ?
1) 35 2) 34 3) 36 4) 72
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à.40 n{hë`m XmoZ nXm§_Ü`o Agcocm g_g§~§Y cjmV KoD$Z àíZ{MÝhmÀ`m {R>H$mUr `oUmao nX {ZdS>m.
ABCDE   FGHIJ    KLMNO   PQRST   UVWXY
CH : 24   :  BX  :  ?
1) 26 2) 48 3) 44 4) 38

à.41 Imcrc g§»`m_mcoV àíZ{MÝhmÀ`m {R>H$mUr `oUmar g§»`m n`m©̀ mVyZ {ZdS>m.
91, 78, 66, 55,  ?
1) 44 2) 36 3) 43 4) 45

à.42 àíZ{MÝhmÀ`m {R>H$mUr H«$_mZo `oUmar AmH¥$Vr AmoiIm?

 ,  ,  ,  ?

1) 2) 3) 4) 

à.43 {MÝhm§Mm H«$_ cjmV KoD$Z àíZ{MÝhmÀ`m {R>H$mUr `oUmè`m {MÝhm§Mm JQ> n`m©̀ mVyZ {ZdS>m.
--  - 
1)  2)  3)  4) 

à.44 Imcr {Xcoë`m g§»`m_m{cHo$Vrc {dg§JV nX AmoiIm. (XmoZ MwH$sMo n`m©̀  AmhoV, Vo XmoÝhr n`m©̀  {ZdS>m.)
2, 3, 10, 15, 25, 37, 50
1) 2 2) 25 3) 37 4) 15

à.45 Imcr {Xcoë`m g§»`m_m{cHo$Vrc MwH$sMo nX AmoiIm?
8, 12, 18, 25, 36, 48
1) 36 2) 18 3) 12 4) 25

à.46 Imcrc àíZ{MÝhmÀ`m {R>H$mUr `oUmao Aja n`m©̀ mVyZ {ZdS>m.
ABCDE    FGHIJ   KLMNO   PQRST    UVWXY
A, D, I, P,  ?
1) W 2) X 3) V 4) Y
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à.47 EH$m gm§Ho${VH$ {cnrV "nH$S>' hm eãX "nS>H$S>S>S>' Agm {c{hcm OmVmo, Va Ë`m {cnrV "YS>H$' hm eãX H$gm {c{hcm
OmB©c?
1) YS>S>S>H$S> 2) S>YS>S>S>H$ 3) YS>S>H$S> 4) YS>S>S>H$S>S>

à.48 EH$m gm§Ho${VH$ ^mfoV Oa CAT = 532,  TOP = 374, PAN = 872 Va POT = ?
(Ajao d A§H$m§Mm H«$_ gmaIm AgocM Ago Zmhr)
1) 743 2) 873 3) 472 4) 872

à.49 EH$m gm§Ho${VH$ {cnrV ~XH$ =   d gai =   Va Ë m̀M {cnrV  Agm {c{hcocm eãX H$moUVm Agoc?
1) ~ai 2) gaH$ 3) agX 4) g~i

à.50 M____OM_____ NOMMN____ MM_____OM `m Ajam§À`m c`~Õ _m§S>UrV àíZ{MÝhmÀ`m OmJr
H$moUË`m Ajam§Mm g_yh `oB©c?
1) MMON 2) NMON 3) OMNN 4) NOMN

à.51 Imcrc {MÝhm§Vrc c`~Õ _m§S>Ur cjmV KoD$Z àíZ{MÝhm§À`m OmJr `oUmam {MÝhJQ> n`m©̀ mVyZ {ZdS>m?
____________
1)  2)  3)  4) 

à.52 Imcr {Xcoë`m A§H$m§À`m c`~Õ _m§S>UrV [aH$må`m OmJr H$moUVo A§H$ H«$_e… `oVrc?
55____39______643______28
1) 748 2) 718 3) 477 4) 717

à.53 Imcrc _Zmoè`mMo {ZarjU H$ê$Z àíZm§À`m CÎmamMm `mo½` n`m©` {ZdS>m.

1

2   3  4

5   6  7   8

9   10   11   12   13

14   15   16   17   18   19

 20   21   22   23   24   25   26

Oa 14915  :  191318 Va 526     :   ?
1) 847 2) 437 3) 846 4) 837
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à.54 _Zmoè`mMo {ZarjU H$ê$Z àíZm§À`m CÎmamMm `mo½` n`m©` {ZdS>m.

1

2   3  4

5   6  7   8

9   10   11   12   13

14   15   16   17   18   19

 20   21   22   23   24   25   26

Oa 9152216   :   13182417 Va 10222114 :  ?
1) 12172419 2) 7171819 3) 12232418 4) 12242519

à.55 Imcrc _Zmoè`mVrc Aja _m§S>Urdê$Z àíZmMo CÎma n`m©̀ mVyZ emoYm.

Oa  glrh : jnsi Va klde : ?
1) onie 2) onfe 3) otjf 4) Jice

à.56 nwT>rc àíZAmH¥$VrMo nmÊ`mVrc à{Vq~~ AgUmar AmH¥$Vr {ZdS>m.

nmÊ`mVrc à{Vq~~

1) 2) 3) 4) 
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à.57 {Xcoë`m àíZmH¥$VrMo Ocà{Vq~~ n`m©̀ mVyZ {ZdS>m?

Ocà{Vq~~ nmZ
1) 2) 3) 4) 

à.58 nwT>rc àíZmH¥$VrMr AmaemVrc à{V_m n`m©̀ mVyZ {ZdS>m.

AmaemVrc à{V_m 5682

1) 2) 3) 

682

5 4) 

à.59 A{OVMo d` gẁ eÀ`m d`mÀ`m {VßnQ> Amho. XmoKm§À`m d`mVrc \$aH$ 20 df} Agë`mg XmoKm§À`m d`m§Mr ~oarO {H$Vr?
1) 38 df} 2) 60 df} 3) 30 df} 4) 40 df}

à.60 H${dVmcm XmoZ ~{hUr Am{U EH$ ^mD$ Amho. ^mdmMo Zmd Aj` Amho Va Aj`cm ~{hUr {H$Vr?
1) XmoZ 2) VrZ 3) EH$ 4) Mma

à.61 EH$m c§~H$mÀ`m KS>çmimV Xa Vmgmcm VmgmÀ`m g§»`oà_mUo d Xa AÜ`m© Vmgmcm EH$ `mà_mUo Q>moco dmOVmV Va Ë`m
KS>çmimV nmdUoVrZ dmOë`mda gìdmgmV dmOon`ªV {H$Vr Q>moco dmOVrc?
1) 30 2) 28 3) 29 4) 31

à.62 gmo~VÀ`m AmH¥$VrV {ÌH$moU {H$Vr?

1) 18 2) 19 3) 20 4) 12
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à.63 gmo~VÀ`m AmH¥$VrV Am`V {H$Vr?

1) 63 2) 84 3) 98 4) 90

à.64 Imcrc àíZmVrc AmH¥$VrV àíZ{MÝhmÀ`m OmJr H$m` `oB©c, Vo R>adm.

36

4

3 5
42

3

6 5
?

2

4 5
1) 22 2) 48 3) 30 4) 33

à.65 35 _wcm§À`m am§JoV amO|Ð _Ü`^mJr C^m Amho, Va Ë`mÀ`m S>mdrH$S>o C^m AgUmè`m XrnH$Mm am§JoVrc H«$_m§H$ {H$Vdm?

(XmoZ n`m©` AMyH$ AmhoV XmoZhr n`m©̀  {ZdS>m)

1) COdrH$Sy>Z 19 dm 2) S>mdrH$Sy>Z 19 dm

3) COdrH$Sy>Z 17 dm 4) S>mdrH$Sy>Z 17 dm

à.66 gẁ e, àXrn, gwOc d àVrH$ H°$a_ IoiV AmhoV. àXrn d gwOc EH$_oH$m§Mo {^Sy> AmhoV. gwOcÀ`m S>mdrH$S>o àVrH$

~gcm Amho. gẁ eMo Vm|S> Oa nyd}cm Agoc Va CÎmaocm H$moUmMo Vm|S> Agoc?

1) gw`e 2) àXrn 3) gwOc 4) àVrH$

à.67 gyaO g{dVmnojm 5 {Xdgm§Zr chmZ Amho Va g{dVm g§O`nojm 15 {Xdgm§Zr _moR>r Amho. g§O`Mm OÝ_ 18 _o cm Pmcm

Agoc Va Imcrcn¡H$s gË` {dYmZ H$moUVo? (`m àíZmV XmoZ n`m©` AMyH$ AmhoV.)

1)  g{dVmMm OÝ_{XZm§H$ 3 OyZ Amho. 2)  gyaOMm OÝ_ 8 _o cm Pmcm.

3)  gyaOMm OÝ_ 28 OyZcm Pmcm. 4)  gyaO g§O`nojm _moR>m Amho.
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à.68 AmH¥$VrMo {ZarjU H$ê$Z àíZm§Mo CÎma n`m©̀ mVyZ emoYm? \$º$ EH$mM AmH¥$VrV AgUmè`m A§H$m§Mr ~oarO {H$Vr?

4

14
6

10 9
7

12

1) 17 2) 26 3) 21 4) 14

à.69 Imcrc AmH¥$Vr H$moUË`m n`m©`mVrc KQ>H$m§er AMyH$ OwiVo Vmo n`m©` {ZdS>m?

1) Jm`, åh¡g, eoir 2) H$sQ>H$, _mer, _mgm
3) nwUo, _hmamï>́, gm§Jcr 4) Jmd, VmcwH$m, {Oëhm

à.70 [aH$må`m Mm¡H$Q>rV àíZ{MÝhmÀ`m OmJr `oUmar g§»`m n`m©̀ mVyZ {ZdS>m?

8 112 7
6 60 5
9 ? 4

1) 72 2) 172 3) 81 4) 93
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à.71 Imcrc àíZmH¥$Vr nyU© H$aÊ`mgmR>r `mo½` n`m©` {ZdS>m?

1) 2) 3) 4) 

à.72 àíZmH¥$Vrer V§VmoV§V OwiUmar AmH¥$Vr n`m©̀ mVyZ {ZdS>m?

1) 2) 3) 4) 
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à.73 Imcrc àíZmH¥$VrVrc ^mJ H$mJXmcm KS>r KmcyZ H$mncm AgVm KS>r CKS>ë`mda H$gm {Xgoc?Vo n`m©`mVyZ {ZdS>m.

1) 2) 3) 4) 

à.74 Imcrc àíZmH¥$VrVrc ^mJ H$mJXmcm KS>r KmcyZ H$mncm AgVm KS>r CKS>ë`mda H$gm {Xgoc Vo n`m©̀ mVyZ {ZdS>m.

1) 2) 3) 4) 

à.75 àíZmH¥$VrV {Xcocm ^mJ H$moUË`m AmH¥$VrV cncocm Amho?

1) 2) 3) 4) 





_hmEŠPm_-2017                 _amR>r _mÜ`_ - V¥Vr` ^mfm d ~wpÜX_ËVm MmMUr (B.…8dr)

- 15 -

H$ƒ H$m_


